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Probability
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Note that the set  must be countable. 
In this course we will use mostly finite 

.

Ω

Ω
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Example

We throw a single, six-sided fair dice once; we observe the number on top.


Q: What is the Ergebnismenge ?


A: 


Q: How would you describe the Ereignis  “the dice shows an even number”?


A: 


Q: What is the probability of Ereignis , i.e. ?


A: .

Ω

Ω = {1,2,3,4,5,6}

E

E = {2,4,6}

E Pr[E]

Pr[E] = ∑
ω∈E

Pr[ω] = 1/6 + 1/6 + 1/6 = 1/2
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Probability
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Probability
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Siebformel

What is the cardinality of , i.e. what is ?A ∪ B |A ∪ B |

9

A B A= + B −

A
∩

B

A
∩

B

We have .|A ∪ B | = |A | + |B | − |A ∩ B |
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Siebformel

10

A B

C
A ∩ C

A
∩

B

B ∩ C

A ∩ B ∩ C

|A ∪ B ∪ C | = |A | + |B | + |C | − |A ∩ B | − |A ∩ C | − |B ∩ C | + |A ∩ B ∩ C |
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Siebformel
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|A | + |B | + |C |
− |A ∩ B | − |A ∩ C | − |B ∩ C |

|A | + |B | + |C |
− |A ∩ B | − |A ∩ C | − |B ∩ C |

+ |A ∩ B ∩ C |

|A | + |B | + |C |

The number indicates how 
often elements of the particular 

segments are counted using 
the expression blow/above.

Illustration source: Wikipedia.

https://en.wikipedia.org/wiki/Inclusion%E2%80%93exclusion_principle#/media/File:Inclusion-exclusion-3sets.png
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Siebformel
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There are a few different ways we can write this formula, see here: Wikipedia.

https://en.wikipedia.org/wiki/Inclusion%E2%80%93exclusion_principle#Formula
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Combinatorics
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Example:  and , e.g. .k = 2 n = 3 S = {1,2,3}
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Combinatorics: Intuition

I highly suggest reading the “Kombinatorik kurz und knapp” slides from Prof. Dr. 
Erich Walter Farkas who teaches the “Wahrscheinlichkeit und Statistik” course 
this semester.


I will upload the relevant slides on my website.
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Conditional Probability 
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“A bedingt auf B” oder “A gegeben B”
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Conditional Probability 

1. , because if we know  already happened, then the probability of  
happening should be .





2. , since  doesn’t give us any information about .





3. If  already happened, then  can only happen if also  happened, so  
should be proportional to .

Pr[A |A] = 1 A A
1

Pr[A |A] =
Pr[A ∩ A]

Pr[A]
= Pr[A]/ Pr[A] = 1.

Pr[A |Ω] = Pr[A] Ω A

Pr[A |Ω] =
Pr[A ∩ Ω]

Pr[Ω]
= Pr[A]/1 = 1.

B A A ∩ B Pr[A |B]
Pr[A ∩ B]
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Example (Blackboard)
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Beispiel 2.9 (Zweikinderproblem) im Skript.
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Conditional Probability
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Illustration taken from “Wahrscheinlichkeit und Statistik” slides from this semester, first chapter.

B

A1 A2

A3 A4
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Interactive Example (Blackboard)
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Conditional Probability

22



Georg Hasebe

Independence
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Pr[A |B] =
Pr[A ∩ B]

Pr[B]
=

Pr[A] ⋅ Pr[B]
Pr[B]

= Pr[A]

“[…] das Vorwissen, dass B eintritt, keinen Einfluss auf die 
Wahrscheinlichkeit hat, mit der wir das Eintreten von A erwarten.”, skript p. 
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